TIN—T1) =7

A nvevrpst | BIREE | govraas i = o iy (EFS= [[=Hiva
PRI RS % 400 OAO 1 O 4 4 1
B R 0@4 2N2 0 1 1 -4 3
®O7 700y OAO 2N 2 0 0 2 0 2
B sz a—sat | BEA—LZ | HozEy 2 i =1 4> s = BR= JIE{L
SNILT A —RER OAO 9 O 0 1 0 4 9 1
BiHA—ILR 0AO0 300 1 0 4 3 2
yozxryx | 0@9 003 0 2 0 -12 3
A I Xt g B F i X g
1 9:30 TN T 4-0 B A 1 9:30 ST A — KR - BHA—LX
2 10:10 B R 2B2H | ®avrrar 2 10:10 |&#H—1R - YoREy R
3 10:50 TNy TH 0-0 #®O7 72y 3 10:50 ST — R - Yy 2Fy X
JERLAR TE B
TNY TGt B — L X ®O7 70y SNILT 4 —RER
4 11:50 (AY — 1) 3-0 (BY —&2f2) 4 11:50 (AY — 2 24i0) 0-1 (AY — ' 14i0)
BT ToRF v <
12:40 (AY —7'3() 6R81H (BY —3)
RS
6 13:40 TS T TR 1-0 NNT 4 —HEE §)
BRE TAT T TG EER LT —KEH

= B#HAH—ILZ-EO7FILav

ik va

TTRSCE IR

AN

Y7 XFvX




